Eléments propres de
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7 2 =2
Al = 2 4 1) Rép : XA1(X) = (X - 3)2(X - 9)7 E3(A1) = VCCt((17_2a0)7<0a171))7E9(A1) =
-2 -1 4
Vect ((2,1,—1)).
9 1 6
Ao=| =7 1 6| .Rep: X, (X) = (X=2)2(X+1), E_1(As) = Veet ((=2,2,3)), Ea(As) = Veet ((—=1,1,1)).
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-2 -1 2
Ag= |15 =6 11].Rep : Xa,(X) = (X = 1)3, Er(As) = Veet((1,1,2)).
-14 -6 11
2 11
A= 1 2 1) Rep: X, (X) = (X — 1)(X = 3)2, Bs(As) = Vet ((1,1,0)), By(As) = Vet ((—1,1,0)).
0 0 3
-1 0 3
As= [ =3 2 3| .Rép:Xa,(X) = (X+1)(X—2)2, Ea(As) = Vect((1,0,1), (0, 1,0), E_1(As) = Vect((1, 1,0)).
0 0 2
0 0 4
Ag=|1 0 —8|.Rép: Xa,(X)=(X—1)(X—2)2 Ey(Ag) = Vect((2,-3,1)), E1(Ag) = Vect((4,—4,1)).
01 5
2 1 1
Ar=[0 0 —2) .Rép: Xa(X) = (X-1)(X—2)2, Ex(Ay) = Vect((1,0,0), (0,1, ~1), 1 (A7) = Vect((~2,1,1)).
01 3
-2 1 1
As=| 8 1 —5|.Rép:Xa,(X)=X(X+2)?, Es(As) = Vect((1,~1,1)), Eo(As) = Vect((3,1,5)).
4 3 -3
6 1 1 1
116 1 1|, ,
AQ = 1 1 16 1 REP N XAQ(X) = (X_15) (X_19)7 E15(A9) = VeCt((17 _1a050)7 (1,0, _170)’ (170707 _1))7
1 1 1 16
Fro(Ag) = Veet((1,1,1,1))
1 a O
App=10 0 1
0 1 0



